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’ 100kN/mM#%# 8% % 1.00/ 000 ~ 0.16 102.36|3mZ#BZBH| - ~ = = -| 100kN/iZi#8 % % 1.00| 11.98 ~ 1258 102.36|3m%i#BZ % = ~ = = =
Zh st 1.00[016 ~ 7.95 100.00] #hlist | 000 ~ 7.95| 1.97 10.31 LS 1.00| 500 ~ 11.98 100.00f #h it | 500 ~ 12.58| 1.97 10.31
9 100kN/mM#%#BZ % 1.00/ 0.00 ~ 0.60 108.88|3mZi#BZBH| - ~ = = -| 100kN/iZi#8 % % 1.00| 1153 ~ 13.76 108.88|3m%i#BZ % = ~ = = =
Zh st 1.00{ 060 ~ 838 100.00] Zh st | 000 ~ 8.38] 2.00 10.47 LS 1.00] 500 ~ 1153 100.00| #h it | 500 ~ 13.76] 2.00 10.47
3 100kN/mM#%#BZ % 1.00/ 000 ~ 1.20 118.17|3mZ#BZRB| - ~ = = -| 100kN/iZi#8 % % 1.00| 10.98 ~ 1550 118.17|3m%i#BZ% = ~ = = =
Zh st 1.00[1.20 ~ 899 100.00] Zh st | 000 ~ 8.99| 223 11.69 LS 1.00| 500 ~ 10.98 100.00| #h it | 500 ~ 15.50| 2.23 11.69
4 100kN/mM#%# 8% % 1.00/0.00 ~ 1.01 115.14|3mZ#BZRD| - ~ = = -| 100kN/iZi#8 % % 1.00| 12.68 ~ 18.36 115.14|3m%#BZ % = ~ = = =
ZnLst 1.00{ 1.01 ~ 8.79 100.00] Zh L4t | 000 ~ 8.79| 2.10 11.00 Zh s 1.00f 500 ~ 12.68 100.00f Z1List | 500 ~ 18.36f 2.10 11.00
5 100kN/m%#EZ % 1.00{0.00 ~ 1.66 125.43|3m%EHB %% -~ = = -| 100kN/ %z % 1.00] 11.28 ~ 19.23 125.43|3m%E#B %% = ~ = = =
Zrn Lot 1.00] 1.66 ~ 945 100.00] Zh L5t | 0.00 ~ 9.45] 2.19 11.49 Zh s 1.00f 500 ~ 11.28 100.00f Z1List | 500 ~ 19.23| 2.19 11.49
6 100kN/mM%#EZ % 1.00{0.00 ~ 2.18 133.87|3m%EHE %% -~ = = -| 100kN/MZE#BZ % 1.00| 10.57 ~ 19.63 133.87|3m%E#B %% = ~ = = =
Zrn Lot 1.00 2.18 ~ 9.97 100.00] ZH L4t 1000 ~ 9.97| 2.33 12.21 Zh s 1.00f 5.00 ~ 10.57 100.00f Z1List | 500 ~ 19.63| 2.33 12.21
7 100kN/mM%#EZ % 1.00{0.00 ~ 2.56 140.20|3m%EHE % % -~ = = -| 100kN/MZE#BZ % 1.00| 10.61 ~ 21.44 140.20|3m%E# %% = ~ = = =
ZnLst 1.00] 2.56 ~ 10.35 100.00| Zh1List | 0.00 ~ 10.35] 2.79 14.62 Zh s 1.00f 500 ~ 10.61 100.00f Z1List | 500 ~ 2144 279 14.62
8 100kN/mM%#EZ % 1.00{0.00 ~ 236 136.82|3m%EHE %% -~ = = -| 100kN/ %z % 1.00| 10.58 ~ 20.04 136.82|3m%E#B %% = ~ = = =
Zrn Lot 1.00] 2.36 ~ 10.14 100.00| Zh1List | 0.00 ~ 10.14] 2.77 14.53 Zh s 1.00f 500 ~ 10.58 100.00f Z1List | 500 ~ 20.04| 2.77 14.53
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